
Toyota Camry (2018-2024) Chassis Mounted Front Splitter Packing List

TOOLS NEEDED
● 10mm Socket
● 3/32” Allen Wrench
● ⅜” Socket
● 7/16” Socket & Wrench
● ½” Socket & Wrench
● Drill w/ Socket Attachment
● Ratchet Wrench
● Flat Head Screwdriver
● Isopropyl Alcohol
● Diagonal Cutters
● Clean Rag
● Exacto Knife
● Scissors

PARTS SUPPLIED
(1) 2-Piece Splitter (1) Air Dam (2-piece)
(1) Logo Plate (1) Chassis Bracket

HARDWARE SUPPLIED
BAG 1 (chassis bracket) BAG 4 (splitter big bolts)
A16 - (3)M6-1.0 x 55mm Hex Bolts B34 - (16) 5/16-18 x 1” Hex Bolts
B31 - (3) ¼”x1” Washers D16 - (16) 5/16 x 1.25” Washers
D26/D27 - (3) 30mm Spacers

BAG 5 (splitter/air dam)
BAG 2 (air dam connection) B10 - (8) ¼”-20 x 1” Hex Bolts
B24 - (2) ¼”-20 Nyloc Nuts B31 - (8) ¼” x 1” Washers
B31 - (2) ¼” x 1” Hex Bolts D32 - (1) Blue Threadlocker

BAG 3 (logo/splitter) ITEMS 6 & 7
Yellow Bins - (4) Low Profile 10-24 x ⅜” SS Bolts (10 Feet) Thick Edge Trim BLACK
B03 - (2) 10-24 Zinc Nyloc Nuts (10 Feet) Splitter Edge Trim of Choice
Cut - (1) Small White Vinyl Patch

Scan here for video installation instructions:


